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= 54,800
Ea 493,200
oz ZAKI(LHAI2XIF) SUAS XIS FHIA
e 100,000,000 *10H 2~ 100,000
[ 50,000
= 5,000
[Ea 45,000
03 A2 = THHI 4,000 0 4,000
ogZA(ASIXF) SUAS XS FHIA
& 4,000,000 4,000
= 2,000
= 200
o 1,800
NS LMt 24 9,297 9,316 A19
301 22N = 8,937 9,050 A113
11 HAIMHIXI R = 2,550 3,000 A450
ol EZME Ws Il & 2SN
2,550,000 2,550
14 IIEt2 83 6,387 6,050 337
oYM HEs IS & AHTH 7Y
30,0002 %180 5,400
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S THLHE D
S THHE T
=2 o 22l At (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cdlgs ==l A= 1,645& %600 £ 987
307 el2to| & 360 266 A
EEE 360 266 o
SXIATSLE Haivle)
2,0002 180 360
Mol +t= 73,600 51,800 21,800
201 2= 600 600 0
2 S22l 600 600 0
oMol PEEAt SEEEAAY HHHLT]
NEBZ 50,000 * 122 600
302 01 Mol 2 &= 52,000 51,200 800
02 2N S A2 S22 52,000 51,200 800
oZ2lg Moll+= =3 el
100,000 #4009+ 40,000
oMol7E HIE 23 Py
150,000 x25+40H 12,000
401 Al HIZL S 0HYI 21,000 21,000
01 Al&HI 21,000 21,000
SHAFAHAE AHLHEXNE ZX
700,000& *307H 2~ 21,000
HH2LZHI(M D) 136,997 138,560 1,563
el 23 96,267 91,851 4,416
eIg =3 96,267 91,851 4,416
101 e124d| 96,267 91,851 4,416
01 2= 56,505 52,089 4,416
oAe2eg
11,3192« 16 +26A| 2+ 123 56,506
02 JIEtA 2= 39,762 39,762 0
cAlZA2 R+ (HEE)
10,2472 +3E+57 Al 2t 123 21,027
o0f222+g(¥3)
27,3282 «3* 102+ 122 9,839
oFU2RE(FY)
82,3702 «3E*3A| 2+~ 123 8,8%
Jl=3H| 40,730 46,709 N5,979
Jl=23H] 40,730 46,709 N5,979
201 fer23y| 29,450 35,489 26,039
01 AtR2t2|HI 29,450 35,489 26,039
o=SAEA 7Y 25,0002 x202t A#52 2,500
olgly AZE 7 16,000
-£ 1,000,000 42 4,000
-&£4 250,000 +6CH+83] 12,000
od=J| glg 53,900 20 * 122 1,294
o=J|IEEI| gz
51,8003 *2CH* 122 1,244
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S TLOIE D
H

BH: #ye ot
=l Jl=3H| (Gt H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
STENEEE 12,0002 *39Z*43] 1,872
cMeIs2 6,540
=2 20,0002 x109+ 128 2,400
=N 15,0002 239+ 122 4,140
203 ¥R=4| 11,280 11,220 60
01 D[22 HHRFA| 6,000 6,000 0
ocALMA=F 1,500,000 x4= 7| 6,000
04 RXNSLERFAH 5,280 5,220 60
=301 =1t
(400,0002+(5,0002 x89 ) )+ 12& 5,280
P& S (Mt Dt 416,323 377,010 39,313
LIS HHXIZ 416,323 377,010 39,313
LS HHKIE 416,323 377,010 39,313
m@ISHES 416,323 377,010 39,313
01 JI=d&Es 416,323 377,010 39,313
oMt D] 416,323,000 416,323
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